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1. BEFHNA
ZEBEPA (A ( 16,100 ) | ( 17,750 ) A 1,650)
EEREIA 10,100 10,250 A 150
EMRERENRA 6,000 7,500 A 1,500
HMEFIRA (B) ( 4,000) | ( 4,000 ) 0)
EHREEAKRRE - SEFTHESHRSIA 4,000 4,000 0
#IRA (C) ( 1)]( 1) 0)
SZEFEURA 1 1 0
EEFHRAS (D=A+B+C ) 20,101 21,751 A 1,650
2. BXEEFRH
BEXEXH B ( 22,142 ) | ( 24,482 ) A 2340)
~ A1 (Mg ERREB R ER) 3,681 3512 169
D2 (EFZDHE -ARBRER) 12,352 14,128 A 1,776
T (RERVEPEERITEE) 1,876 2,768 A 892
T2 (ERRREIKEX) 495 131 364
ZTOMI(LEFEIIEEX) 132 132 0
WBHRFS 2,828 3112 A 284
EERME 476 504 A 28
RS fTZH 52 0 52
- BIEEWRE 250 195 55
EEEXH F) ( 2,425 ) | ( 2,481 ) A 56)
- HEHmENX N 150 150 0
WwHEFEXE 1,212 1,333 A 121
EERMERZE 204 216 A 12 |aegmuszran
IREEHS T 22 0 22
=EINELE 20 20 0 |mmzmz
REEXH 10 10 0
WREXBEXH 5 5 0
BEERE S H 250 195 55 |@pfE. BEEH
HEMASREREXH 250 250 0 |x=Em
FRIEAREX 50 50 0 |#EENRIHH
ERAEXE 2 2 0 |em-wrms mnsss
L M 250 250 0 [ERAFHH
BRI XZWHE (G=E+F) 24,567 26,963 A 2,396
EXEHNZEZE (H=D-G) A 4,466 A 5212 746
I FliEE&EXXH (1) 100 108 A 8
HEANZERE (J=H-1) A 4566 A 5,320 754
ATHAMRBMINZ =58 (K) 4,000 5,500 A 1,500
REAREHUNT ZRE (L=J+K) A 566 180 A 746




